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  Written Exercise 7:  
Translate the following Greek text into correct English (82 answers):
JW" tw/' sabbavtw/ oJ  jIhou'" to;n lao;n ejdivdasken th/' sunagwgh/' th'/ ejn th'/ Galilaiva/, a[nqrwpo" qumw/' ei\pen aujtw/', Th;n ajlhvqeian tou' qeou' su; mh; devdwka" hJmi'n; su; oJ Messiva" oujk ei\  o[ntw", ajlla; tou'  ponhrou' su; ei\. hJmei'" oujk eijsakouvsomen tw'n lovgwn sou, o&ti aujtoi; kakoiv eijsivn.

pro; ejkei'nou tou' ajnqrwvpou oj kuvrio" proevqhken ta; lovgia tau'ta, Makavriov" ejstin oJ pisto;" o&ti hJ basileiva tou' qeou'; ejsti;n aujtou'. ajll j oujai; tw/' ajpivstw/ o&ti aujto;" ejn th/' basileiva/ oujk e[stai. ejgw; oujk o&moio" eijmi; toi'" yeudodidaskavloi", ou|toi yeuvstoiv eijsi;n kaqw;" oJ ponhro;" ouj levgei th;n ajlhvqeian. tovte tw/' ajnqrwvpw/ ei\pe,  jEn tw/' uiJw/' tou' ajnqrwvpou su; pisteuei";
Parse the following words according to the appropriate model (93 answers):
JW"(4 answers): Subordinate conjunction introducing __________  __________ _______ dependent clause - __________
tw/' sabbavtw(7 answers): 2 - Loc (Time) - N - S - savbbaton, tov- __________ 
oJ  jIhou'"(7 answers): __________ __________- Nom (Subj) - M - S -  jIhsou'", oJ- __________
to;n lao;n(7 answers): 2 - Acc (Dir Obj) - M - S - laov", oJ- __________ 
ejdivdasken(8 answers): Imperf (Desc) - Act - Ind - 3 - S -  didavskw- __________
th/' sunagwgh(7 answers): 1 - Loc (Place) - F - S - sunagwghv,  hJ - __________
th'/ ejn th'/ Galilaiva(7 answers): __________ __________ - Loc (Place) - F - S - Galilaiva, hJ- __________
a[nqrwpo"(7 answers): 2 - Nom (Subj) - M - S - a[nqrwpo", oJ- __________
qumw/'(7 answers): 2 - Ins (__________) - M - S - qumov", oJ- __________
ei\pen(8 answers): 2 Aor (Const) - Act - Ind - 3 - S -  levgw- __________
aujtw/'(10 answers): Pers Pron - Dat (Indir Obj) - M - S - aujtov", -hv, -ov- __________
Th;n ajlhvqeian(7 answers): 1 - Acc (Dir Obj) - F - S - ajlhvqeia, hJ- __________
tou' qeou'(7 answers): 2 - Gen (Poss)/ Abla (Source) - M - S - qeov", oJ- ____________________
su;(7 answers): Pers Pron - Nom (Subj) - S - suv- __________
mh; devdwka"(8 answers): Perf (__________) - Act - Ind (Interrog) - 2 - S - divdwmi- ____________________  

hJmi'n(7 answers): Pers Pron - Dat (Indir Obj)  - S - ejgwv- __________
su(7 answers): Pers Pron - Nom (Subj) - S - suv- __________
oJ Messiva"(7 answers): 1 - Nom (Pred) - M - S -  Messiva", oJ- __________
oujk ei(7 answers): Pres (Desc) - Ind - 2 - S - eijmiv- __________
o[ntw": Adverb of degree - really, actually, indeed
ajlla;: Adversative coordinate conjunction introducing a contrastive independent clause - but  
tou'  ponhrou'(10 answers): Adj (Subst) - Gen (Poss) / Abla (Source) - M - S - ponhrov", -hv, -ovn- __________ __________  
su(7 answers): Pers Pron - Nom (Subj) - S - suv__________
ei\(7 answers): Pres (Desc) - Ind - 2 - S - eijmiv- __________
hJmei'"(7 answers): Pers Pron - Nom (Subj) - P - hJmei'"- __________
oujk eijsakouvsomen(8 answers): Fut (__________) - Act - Ind - 1 - P - eijsakouvw- ____________________
tw'n lovgwn(answers): 2 - Gen (Dir Obj) - M - P - lovgo", oJ ____________________
sou(7 answers): Pers Pron - Gen (Poss) - S - suv__________
o&ti(4 answers): Subordinate conjunction introducing __________ __________ __________ dependent clause - __________
aujtoi;(10 answers): Pers Pron - Nom (Subj) - M - P - aujtov", -hv, -ov- __________
kakoiv(9 answers): Adj (Pred) - Nom - M - P - kakov", -hv, -ovn- __________
eijsivn(7 answers): Pres (Desc) - Ind - 3 - P - eijmiv- __________
pro;...tou' ajnqrwvpou(7 answers): 2 - Abl (Sep) - M - S - a[nqrwpo", oJ- __________
ejkei'nou(9 answers): __________ Pron - Abla - M - S - ejkei'no", -h, -o- __________(man)  
oj kuvrio"(7 answers): 2 - Nom (Subj) - M - S - kuvrio", oJ- __________
proevqhken(8 answers): 1 Aor (Const) - Act - Ind - 3 - S - protivqhmi- ____________________

ta; lovgia(7 answers): 2 - Acc (Dir Obj) - N - P - lovgion, tov- __________ __________
tau'ta(9 answers): __________ Pron - Acc - N - P - ou|to", au&th, tou'to- __________
Makavriov"(9 answers): Adj (Pred) - Nom - M - S -  makavrio", -h, -on- __________  
ejstin(7 answers): Pres (Desc) - Ind - 3 - S -  eijmi- __________
oJ pisto;"(10 answers): Adj (Subst) - Nom (Subj) - M - S -  pistov", -hv, -ovn- __________
o&ti(4 answers): Subordinate conjunction introducing __________ __________ __________ dependent clause - __________
hJ basileiva(7 answers): 1 - Nom (Subj) - F - S - basileiva, hJ__________
tou' Qeou'(7 answers): 2 - Gen (Poss) - M - S - qeov", oJ- __________
ejsti;n(answers): Pres (Desc) - Ind - 3 - S - eijmi__________
aujtou'(10 answers): Pers Pron - Gen (Poss) - M - S - aujtov", -hv, -ov- __________
ajll j: adversative coordinate conjunction introducing independent clause - but  
oujai;(1 answer): Interjection used adverbially - __________
tw/' ajpivstw(9 answers): Adj (Subst) - Dat (Ref) - M - S - a[pisto", -on- to the unbeliever  
o&ti(4 answers): subordinate conjunction introducing __________ __________ __________ dependent clause - __________
aujto;"(10 answers): Pers Pron - Nom (Subj) - M - S - aujtov", -hv, -ov- __________
ejn th/' basileiva(7 answers): 1 - Loc (Sphere) - F - S - basileiva, hJ__________
oujk e[stai(7 answers): __________ (Pred) - Ind - 3 - S - eijmi- __________
ejgw;(7 answers): Pers Pron - Nom (Subj) - S - ejgwv - __________
oujk...eijmi(7 answers): Pres (Desc) - Ind - 1 - S -  eijmiv - __________

o&moio"(9 answers): Adj (Pred) - Nom - M - S - o&moio", -a, -on- __________
toi'" yeudodidaskavloi"(7 answers): 2 - Ins (Assoc) - M - P - yeudodidavskalo", oJ- (like) ______________
ou|toi(10 answers): Dem Pron - Nom (Subj) - M - P - ou|to", au&th, tou'to- __________
yeuvstoiv(7 answers): 2 - Nom (Pred) - M - P - yeuvsth", oJ- __________
eijsi;n(7 answers): Pres (Desc) - Ind - 3 - P - eijmi- __________
kaqw;"(4 answers): subordinate conjunction introducing __________ ___________ _________ dependent clause - __________
oJ ponhro;"(10 answers): Adj (Subst) - Nom (Subj) - M - S - ponhrov", -hv, -ovn - __________
ouj levgei(8 answers): Pres (Desc) - Act - Ind - 3 - S - levgw- __________
th;n ajlhvqeian(7 answers): 1 - Acc (Dir Obj) - F - S - ajlhvqeia, hJ__________
tovte(1 answer): Adverb of sequence - __________
tw/' ajnqrwvpw(7 answers): 2 - Dat (Indir Obj) - M - S - a[nqrwpo", oJ- __________
ei\pe(8 answers): __________ (Const) - Act - Ind - 3 - S - levgw- __________
 jEn tw/' uiJw(7 answers): 2 - Loc (Sphere) - M - S - uiJov", oJ- __________
tou' ajnqrwvpou(7 answers): 2 - Gen (Desc) - M - S - a[nqrwpo", oJ- __________
su(7 answers): Pers Pron - Nom (Subj) - S - suv - __________
pisteuvei"(9 answers): Pres (Desc) - Act - Ind (__________) - 2 - S - pisteuvw - __________________
Conjugate the following verbs according to the appropriate model (7 answers):
Perfect - Active - Indicative Forms of divdwmi(7 answers):

Person:
Singular
Plural
Infinitive  









Decline the following nouns and noun derivatives according to the appropriate model:
Correlative Demonstrative Pronoun toiou'to", toiaujth, toiou'to(18 answers):

Case:
Masculine

Feminine

Neuter
Singular:
Nom

Gen/Abla

Dat/Ins/Loc


Acc

Plural:

Nom

Gen/Abla

Dat/Ins/Loc

Acc

Block diagram the above text according to the guidelines:

                                                              tw/' sabbavtw/ 


  
                       jW"...oJ  jIhou'" to;n lao;n ejdivdasken


                                                              th/' sunagwgh/' 

                                                                                    th'/ ejn th'/ Galilaiva/,

(A)
a[nqrwpo"...ei\pen aujtw/',

                       qumw/' 

 (1)
                                    Th;n ajlhvqeian tou' qeou' su; mh; devdwka" hJmi'n_ 

 (2)
                                    su; oJ Messiva" oujk ei\ o[ntw":


                                            ajlla; 

 (3)
                                   tou' ponhrou' su; ei\. 

 (4)
                                   hJmei'" oujk eijsakouvsomen tw'n lovgwn sou, 


                                                        o&ti aujtoi; kakoiv eijsivn.


                     pro; ejkei'nou tou' ajnqrwvpou 

(B)
oj kuvrio" proevqhken ta; lovgia tau'ta, 

 (5)
                                                        Makavriov" ejstin oJ pisto;" 

  

                                                                o&ti hJ basileiva..ejsti;n aujtou'.


                                                                                          tou' qeou';  


                                                                ajll j 

 (6)
                                                        oujai; tw/' ajpivstw/ 


                                                                                           ejn th/' basileiva/


                                                               o&ti aujto;"...oujk e[stai. 

 (7)
                                                        ejgw; oujk o&moio" eijmi; 


                                                                            toi'"  yeudodidaskavloi", 

 (8)
                                                        ou|toi yeuvstoiv eijsi;n 

 

                                                                       kaqw;" oJ ponhro;" ouj levgei th;n ajlhvqeian.


                         tovte 

(G)
tw/' ajnqrwvpw/ ei\pe,

 (9)
                               jEn tw/' uiJw/' tou' ajnqrwvpou su; pisteuei";
********************GRADE CALCULATION********************
Number of Errors    ________.____
Total Pts.
      100.00

Missed accents and breathing marks


= 1/4 error per word 
Minus Pts. 

Times
          0.50
Missed       ______.____



  ______________
            ____________

Total Pts. Missed   ________.____ 
Grade        ______.____
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